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{

#include <stdio.h>

main()

Int a, b, ¢, max;

scanf(“%d”, & a);
scanf(“%d”, & b);
scanf(“%d”, & c);

maXx = a,

If (b > max) {
max = b;

¥

if (c > max) {
max = C;

}

printf(“maximum = %d¥n”, max);
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#include <stdio.h>
ADMNZEE a, b, c, max Z#(kE

main()

1

Int a, b, ¢, max; e e e -
scanf(“%d”, & a); HiEEF—FR—Fh AL,
scanf(“%d”, & b); Z’E’y"ﬂ alzAnd

scanf(“%d”, & c);
max = a;

%EE?JV‘/I: T (Z#max) &
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If (b > .
T = el %E'E%(stzizbe-g*)
by
if (c > max) { c DIENTEFroEFLYKEL
max = c; >EEFYEFVE CIZTDH
by
printf(“maximum = %d¥n”, max);
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#include <stdio.h>

main()

{
int 1, sum;
sum = 0O;

for (i=1; i<=10; i++) {
sum = sum + i;

}

printf(“sum = %d¥n”, sum);
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sum = O; 2B H O#EYRL

for (i=1; i<=10; i++) { o E i IXHEMIZ2IZEDS
sum = sum + i; e sum IZ i ZRELT, sumiZ
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if ... else ... Z{F->T, 3D2DEDSVFUTEHS

~
#include <stdio.h> if (a>rc){ =22 DOWeb
Lc =Lc + 1; ’\\o_t)ct(') .
main() } else { /)-l\r?:.‘/l:l_l‘
{ la=Lla+1: A[RETY
int a, b, c, La, Lb, Lc; 1 \_ A
scanf(“%d”, & a); if (b >c){
scanf(“%d”, & b); lc = Lc + 1:
scanf(“%d”, & c); 1 else {
La=0; Lb =0; Lc = 0; Lb = Lb + 1:

If (a>Db) {
Lb =Lb + 1;
} else {

Lla =La + 1;

}

}
printf(*rank of A = %d¥n”, La+1);

printf(“rank of B = %d¥n”, Lb+1);
printf(*rank of C = %d¥n”, Lc+1);
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pA= A YNOEL::

#include <stdio.h> La, Lb, Lc [¥ZFhZEh,

A, B, CF—LD
main() BTHZHAL-ODE
{

int a, b, c, La, Lb, Lc;
scanf("%d”, & a); E¥IZAITHEOIZEYH
scanf(“%d”, & b);
scanf(“%d”, & c);
La = 0; Lb =0; Lc = 0;

if (a>b) { AEBD xTER
Lb = Lb + 1; BAAIT-5, AlT#LbE11EX05
} else { ANE =6, AlT#Laz 11807
Lla = La + 1;

}
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AEC D B
if(@a>c){ CHEF1-5, BlTHLcE1iEpg
L=l ADE (=5, BlTHiLaz 118407
} else {
La=La + 1; ‘
¥ BEC ORI,
=0t CABITTD, B RLcE1IEDT
coreT BAEIT1-5, &I+ 118104
} else {
1 moeT BITH+1H, EDF—LD
printf(“rank of A = %d¥n”, La+1); PRAAATS

printf(“rank of B = %d¥n”, Lb+1);
printf(“*rank of C = %d¥n”, Lc+1);
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